(A3 255) AL R TR M ORI A

.HE 0L K il a0 A L R RYE B B SRR R
. L E O 4 FENINERARERE b A LikfE T
3. T F o % pr FEJIIET R | HN
4. T F o & je e
5. T F o ff = BF AL FERERKEmexE 25k
/MEZRERE 3K
i b L PR E 3
wREME LFE 13K

PemE T 15K

N =

6. N KL & A H af o3 4 1 H 13 B (K) 10 K¢ 00 43

7 T # Sf 3 FE 1 A 19 B ~4aFf 3 4 3 A 25 B (66 HM)
8. T & i # & 9,799,900 M (HEBLL UM HER 2 5T)

9. AFLFE ELgAthA 4 8,909,000 ] (HEBLK OMHISFHERLZ & ET)

10. 5 A5 il BR iy 4% & 8,465,000 M (HEBLL UM IHER 2 5T)

11. e A il BR il 4 4 7,695,455 1 (HEBILKUOHGHERZ S ET)

2. % K & # & 9,702,000 1 (NIH&EBIAE 882,000 1)

3.3 % & H H Sf 3 #£ 1 B4 18 H

14. BEIMTOLREOMER 4 # —BA%MH RFEEGERE = B
£ AT BEIETRFILERHL 8 0 Fih 2
15. AALAER (GHEFLZE £

ANFLEE AL %R i =

L ® B I E OB A R 8, 900, 000

2|1 FH J A 8, 880, 000

| " kW 5,820, 000 HFE 8,820, oﬁ?tﬁfo = 9,702,000
41 (# R Bk 8, 909, 000

5| ®  0&F 0= 8, 909, 000

6] A JE o H# W 8, 830, 000

T M B OFE B AR W 8, 880, 000

8

9

10




